HCI+D Assignment 2
#POVs, HMWs, and Experience Prototypes




Initial POV
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Additional Needfinding
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Additional Needfinding
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Revised POV 1

AhE =B -

S FKFEAIER

/

‘_'/ﬁ\‘%%ﬁ/p N=

= AMECs ?




Revised POV 2
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Revised POV 3
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Best HMW 1
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Best HMW 2
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Best HMW 3
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Prototype 1

Assumption: JKAEABREEEC
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Prototype 1

e Things that worked
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Prototype 2

Assumption: EMERETARSERRASE
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Prototype 2

e Things that worked
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Prototype 3

Comes from our Best Solutions
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Prototype 3-2

MR A ERERB AR

REMNLEE

RECHVIRE -




Prototype 3

Things that worked
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Summary
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Thanks!

Any questions?




